[ Efficiency vs vertpos |

~ 0.5

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_TT__ORIGINAL
Efficiend —— poM_TT__ MODIFIED_propToPlane_PRVersioniFINAL

~ 0.5

2090 0 I

n E . : : : :

2 04 (AR SRR Frrrrnedeseeees AR

& F : ; : : :

§0.35 AR I O 0 R Fremnrerdeeeeee AR

S E : : : : :

2 03 e
oagg kol
oz
TSI SRR R + = SR

L S | U .

e R L 00 S
.0

b

Ratio
N
!

0¥/ —=20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 05
>

0.0.45
S

o 04
£0.35

&
c 0.3
2
Q

o - 5

= : :

g A L
| $il4- L § IS RS 0 (RN TR
[ b d .
L +: 0

0®5=15C10 5 0 5 10 15 20
Sim. PV z (cm)




	Contents
	Page 1


